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http://farbe.li.tu-berlin.de/eeg6/eeq6l Onp.pdf /.psonly vector graphic VG; start output
see similar fileshttp://farbe.li.tu-berlin.de/eeq6/eeq6.htm
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Equal 9 step grey scaling betweeb* gan=14.4 andL* gqv=95.9, Yoref=2.5, normalisation whiteW

Equal 9 step grey scaling betweeb* gon=14.4 andL* gaw=95.9, Yoref=20.0, normalisation white

L*0an=14.4,L*0a755.2,L* 0an~96.0, Yoan=1.8, Yoau23.1, Yoan=90.0,Coay=Yoaw: Yoan=50.0
L*tan=24.3,L*1au=57.0,L*1an=96.0, Yian=4.2, Yiau=24.9, Yiaw=90.0, Gay=Ytaw: Yian=21.5
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PAL* min] / [AL* max], L* cieLag = 116 [Y/Y,]1/3 - 16 with Y >= 0,882,Y,=100

g%= 99, g%= 99 g%s= 74, g%= 66 g%= 96, g*y= 96

L*0an=14.4,L*0a=55.2,L*0an=96.0, Yoan=1.8, Yoau=23.1, Yoanw=90.0,Coay=Yoaw: Yoan=50.0
L*tan=49.3,L*13u=66.0,L*1a0=96.0, Y;an=17.8, %;au=35.3, Y1anw=90.0,Ciay=Yiaw: Yian=5.0
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PL* min] / [AL* max], L* cieLas = 116 [Y/Y,]1/3 - 16 with Y >= 0,882,Y,=100

9%= 99, g%5= 99 g%= 37, g%5= 29 g%= 97, g%= 87

L*cieLaB  intended output real output linearized output L*cieLag  intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) 113 *a Al*la n0.i L*0a L*Or YOa YOr ;L*a Al*a L*r Yta (L*tr) 1147 *a Al*a
120+ ; 120+ ;
90*09 9.0 1.0 900 1.0 96.0 00 10 900 1.0 96.0 68 90*09 96.0 1.0 900 1.0 96.0 1.0 900 1.0 96.0 57
8 858 0.875 67.6 o.74§ 86.1 o8 0.862 682  0.877 87.2 89 8 858 0.875 67.6 0.7436 87.8 78 0.824 716  0.877 90.3 58
7 756 075 492 0.53§ 76.3 07 0.725 50.3  0.753 78.3 90 7 756 075 49.2 0.539 80.0 73 0.657 56.6  0.752 84.4 5o
60+ (D6 654 0625 345 0.3711 66.6 o5 0.589 36.0  0.628 69.3 01 60+ ()6 654 0625 345 0.3711 72.6 67 05 446  0.624 785 60
@5 552 05 231 0.24g 57.0 0456 249  0.501 60.2 01 @5 552 05 231 o.24g 66.0 0.357 353  0.497 72.5 so
@+ 450 0375 145 0.144 47.7 0.327 16.6  0.373 51.1 9'1 @+ 450 0375 145 0144 601 0.232 283 037 66.6 5'7
30*.3 348 025 84 0075 389 0.204 10.6  0.246 41.9 8'9 30*.3 348 025 84 0075 553 0.129 232  0.248 60.9 5'4
@2 246 0125 43 0.02? 30.9 0.092 6.6 0.122 33.1 8'8 @2 246 0125 43 0.02? 51.7 0.051 19.9  0.133 555
@: 144 00 18 00: 243 00 42 0.0 243 @: 144 00 18 00 493 00 178 00 49.3
o~ * = i 3 lisation: Yiain=Ynoy, Yoait Yoref o~ * - 3 lisation: Yiany=Yoau Yoait Yoref
AL*p4=10.2 (i=1,2,..,8) i norma isation: Yiaiw= 0aW - FYoref AL*p5=10.2 (=1,2,..,8) i norma Isation: Yiaiw= 0aW L FYoref
eeq60-3n eeq61-3n

Equal 9 step grey scaling betweeh*ogN=14.4 andL* gaw=95.9, Yoref=10.0, normalisation whiteW

Equal 9 step grey scaling betweeh*ogN=14.4 andL* gan=95.9, Yoref=90.0, normalisation whiteW

L*gan=14.4,L*0a=55.2,L*0an=96.0, Yoan=1.8, Yoau=23.1, Yoan=90.0,Coay=Yoaw: Yoan=50.0
L*taN=38.9,L*tau=61.5,L*taw=96.0, Ytan=10.6, %ta=29.8, Ytaw=90.0,CGay=Yiaw: Ytan~=8.5
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PAL* min] / [AL* max], L* cleLaB = 116 [Y/Yq]Y/3 - 16 with Y >= 0,882,Y,=100

g*5: 99, 9*9: 99 g*5: 48, 9*9: 39 9*5: 96, g*g: 93

L*ganm14.4,L*0a=55.2,L*0an=96.0, Yoan=1.8, Yoau=23.1, Yoan=90.0,Coay=Yoaw: Yoan=50.0
L*ian=73.5,L*ta=79.9,L*1an~96.0, Yian=45.9, Yiau=56.6, Yiaw=90.0,Ciav=Yiaw: Yian=2.0
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PAL* min] / [AL* max], L* cleLag = 116 [Y/Yn]1/3 - 16 with Y >= 0,882,Y,=100

g%= 99, g'y= 99 g%= 22, g%y= 16 g%5= 89, g%=72

L*cieLaB  intended output real output linearized output L*cieLag  intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a AL*a L*r Yta (L*tr) 1133 *a Al*a n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) Y1751 *a Al*a
1207 1 120t :
9 9.0 10 900 10| 96.0 10 900 1.0 96.0 9 960 10 900 10! 96.0 1.0 900 10 96.0
90 O 3 9.1 6.9 90 O 3 2.9
8 858 0875 67.6 0.746 86.9 0.841 69.8  0.878 89.0 . 8 858 0875 67.6 0.746 91.1 0.784 788  0.871 93.1 b
7 756 075 492 0538 78.1 0.686 53.3  0.754 81.9 7'2 7 756 075 492 0.538 86.8 0592 69.6  0.742 90.2 2'9
6oL @6 654 0625 345 0371 695 0536 40.1  0.627 74.7 7'3 6oL @6 654 0625 345 0.371 83.131 0.425 623  0.614 87.3 2'8
@5 552 05 231 0.242 615 0.395 29.8  0.499 67.4 7'3 @5 552 05 231 0.242 79.9 2'5 0.286 56.6  0.49 84.5 2'7
@ 450 0375 145 0144 541 0.266 221  0.371 60.1 7'1 @+ 450 0375 145 0144 774 0.176 523  0.371 81.8 2'5
30*.3 348 025 84 0075 47.751 0.154 16.6  0.246 53.0 els 30*.3 348 025 84 0075756 0.093 49.2  0.258 79.3 2'4
@2 246 0125 43 0028 425 0.063 128  0.127 46.2 7'2 @2 246 0125 43 0.02874.3 0.035 47.1  0.149 76.8 3'4
@: 144 00 18 00! 389 0.0 106 00 389 @: 144 00 18 00735 00 459 00 735
o AL*n.=10.2 (i=1,2,...,8) normalisation: Yiaiw=Yo WYOai+Y0f6f o AL*.=10.2 (i=1,2,...,8) normalisation: Yiaiw=Yo WYOai+Y0f8f
=10. =1,2,..., : - Ytaiw= VST Vs =10. =1,2,..., : * Ytaiw = /e Vi
Oa : a AV Yoaw Yoret 0a : a AW Yoaw Yoref
eeq60-7n eeq6l-7n '

Test chart eeq6; Equal 9 step grey scaling for fo

ur display refleéfigrs2,5, 10, 20, 90, and
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blackL*N cieLaAB=14.4,YN=1.8 and whitd*\y cieL AB=95.99,Y\w=90, normalisation: whitgV
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